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1. 1919 =01 WY HHEES HEAUME Gelaia! Howan wag! awr?
(a)  redta AT WIR grereed fastg feem s,
(b) megwwwtﬁamwwwm
© e figa wargd frate e, |
(d) REs HEaTE SR AT foSRiqa fee s,

i) gy
1) (@) () () B (2) (@), (c) 3T (d) ®
@) (), ) 3 (d) v 4) (o) snfoT (d) v

Which of the following were the provisions of the Montegue Chelmsford Act 1919 ?

(a) The salary of the Secretary of State for India should be paid from the treasury of
England.

(b). Indian High Commissioner should work as the representative of the Viceroy of India
in England. .

{c) Dual system of government should be started in the provinces.

(d) The salary of the Secretary of State for India should be given from the treasury of

India.
Answer options :
(1) (a) (b} and () only (2) (a), (c) and (d) only
(3) (), (c) and (d) only (4) (c) and (d) only

7. T WRINT 26 TRETE 1950 A5 56 U, ST Tée S faamite moR a2
(a) @ Tl Faewam sien e shes fedwr 1929 =0 wER=n sfryme b @
At ar el o o v s 6 A W) w feaw vl ol wda faam wevm

IGSET ST,
() ey e aifufram 1935 wed 3 i, famrde, s, fdm, win 9 o9
giem faarm 3.
Wﬁfﬁ‘iﬁ':
(1) %9 (a) (2) %am (b) @ &= (4) wHE A

The Constitution of India came into force on 26t January 1950, Which one of the following

two statements about it is correct ?

{a) The reason for choosing this date was that the Congress which had adopted Purna
Swaraj resolution at Lahore in Decernber 1929 had urged upon the Indians to observe
26t January as Independence Day every year.

(b)  The sources of the Constitution are based on the Act of 1935 and the Constitutions
of the United States of America, Switzerland, Ireland, Britain, France and Spain.

Answer options :

(1) Only (a) (2} Only (b) (3) Both (4) Neither
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3. wifexd amm gdie <M faaritE wive @Y AT ?
(2) T 1761 91816 Ted dife=ion wru & T e WerRT a9 2.

(b) e sifema: 26 SRR 1816 U difesie sveh wen wnfm et st 31 sifeeiax
1954 wq =erEt.

LeipicL i _
1) %93 (a) 2) ¥9B (b) (3) @) THEETE
Which one of the following two statements about Pondichery is not true ?

(a) Between 1761 and 1816 the control over Pondicherry swung between France and
Portugal. )

(b) France finally established her rule over Pondicherry on 26 September 1816 and it
continued upto 315 October 1954.

Answer options :
(1) Only (@) (2) Only () (3) Both ~ {4) . Neither

4. T 9F faymitel S g ard?
(a) A 9 freie wele Tl U sfega AR o Fe SEse e TEE A
wE T gE gl

() W gm S o Frge R sifierd S wred el geer Rt =t ww g O
oot i 2t |

gaidt FhY _

(1) %9 (a) (2) %@ (b) @) @ uwE T

Which one of the following two statements is not correct ?

(@) Several Englishmen both in India and England did not like the establishment of
Indian Association. Hence they thought of an alternative to this organisation.

(b) Sir A.O. Hume, a retired civil servant, desired an organisation which would serve as
a safety valve and thus the Congress was founded. Lord Duffrein, the Governor

General gave him his full support.
Answer options :
(1) Only @) (2) Only (b) (3) Both (4) Neither
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5. gdie 2 faumidet svR dva T ?
(a) TS TRATY YoH TEHR TG A8 Hied Tgearare ga. o @5 Fhv 9a o,
(b) U SR iR AP § g Seawed S He fee el
watdt sy ;
1) ¥ () @ % (b) (3) @ (1) T

Which one of the following two statements is not correct ?

{a) The first government of free India was led by Jawaharlal Nehru. All the ministers
were the members of the Congress. -

{(b) Food shortages were met by shipments of food from the Soviet Union and the United
States.

Answer options :
(1) - Only (&) {2}y Only (b) (3) Both {4} Neither

6. yEia faumitEt S oy Ty
(1) mﬁﬁmé’m&*aﬁaﬁwmaﬁmﬁﬁméﬁ

@) st e waE 3 eiferaio] « peestE fae, o Tere ae A E. S et
: wrer foen feeeft A9 fawifaeg o vaney S grfaeh,

(3) o HafeR TR wRfid %
(4) g e faeim faen s,
Which one of the following stateménts is not correct ?

{1) The British attitude towards the INA and its leaders was very hostile.

(2) They put to trial three of its most prominent Officers Gurubakshah Singh Dhillon,
Shah Nawaz Khan and P.K. Sehgal at Delhi Red Fort for fighting against the British.

(3)  All of them were convicted.

(4) They were accordingly punished.
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- gterie! R TRES Wew 1917 =0 Heer e g 7

(@) g s () = st

(c) SR sl (d) feaed s

Wf'\‘-ﬂ e :

(1) (a) T (b) " (2)  (b) 3 () W
(B (o) Infor (d) we @) (a) 3for (d) wem

Who from amongst the following Indians were the members of the Sadler Commission of
1917 ?

(a) Surendranath Banerjee (b} Dadabhai Nauroji

() Ashntosh Mukherjee (d) Ziyauddin Ahmed
Answer options : .

(1} (a) and (b} only (2) (b)and {c) only

(3) {c)and (d) only (4) (a)and (d) only

8. ey osEt -

(a) WETE TEED () HEE s

(b eded faedd dand () W GWE /G W

(c) STEHEHAT Horeies (i) oTgE wEE

(dy e frgli geemiian (tv) ol o dewe
it I

(@ ® () @

O @ @ ) @

) @ v g @

@) v @ 6 @)

4 @) @) v @

Match the pairs :

(a) Aligarh Movement (iy Mohammad Ali

{(by Mohmaiden Literary Society {iiy Sir Sayyed Ahmed Khan
() Ahmediya Movement (i) Abdul Latif

(d) Jamiya Miliya Islamiya (ivy Mirza Gulam Mohammad
Answer options : _

@ ® © (@
M O 6@ v
@ @ @) @ o
@ W G O @
@ @ @G @ 6
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9. G g wgren wearEr, mesE ed 9wt wiesEi ey o w5l s,
wqrel W gftmfer =l ?

() s Ee

(2) FuIR i o STEPEAF g F
(3) T gt sfogaesi LRI

(4) Tt st T

After the formation of Swaraj Party, Gandhiji wanted Congressmen to start constructive
work in villages. What did it not include ?

(1) anti liquor campaign.
(2} social work among depressed classes and untouchables.
(3) establishment of hospitals for all.

(4) establishment of national schools.

10. WE-T-@E U H 7
(1) Yezmren femren g sifeh
@) e frovare SERE S Tadh
(3) %atﬁrm T e HE
(4). EevaTEs fremren usETETE O
What is meant by Sarf-e-Khas ?
(1) Lands belonging to the Nizam of Hyderabad
(2) The title given to the family members of the Nizam of Hyderabad

(3) The Council of advisors of the Nizam of Hyderabad

(4) Part of the Palace of the Nizam of Hyderabad
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URE TS whe! ofiaye, ww e e 0 sy

(a) FTHT (1886)
(b) ST (1888)
(c) ERIUET (1905)
(d) wEE (1917)
vafdr 6

(@ () (o)
@ @ v @6
@ @ @ ()
@ i) v @

@ Gv) @i) (@)
 Maitch the pairs :

Congress, Places and

(a) Calcutta (1886)
{c) Varanasi (1905)

- Answer options :
@@ () (©
1 0 ) G
@ ) @) W)
B @ ™
4 Gv) @) ()

{d) Calcutta (1917}

@ o S

(1)  greTaw S
(i) o gt

(iv) TraresEs e

Sessions of the Indian National Presidenis

Years

(i Annie Besant

(b)  Allahabad (1888) () Dadabhai Nauroji

(i} George Yul
{iv) Gopalkrishna Ghokhale
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12, WX A QO o A @i weEen v sy v fogd Saswien sufts greme gEierdet
SRIOTdT FTCU ATae B 2
(a) STETRE SHE HEYS
(b) T
() WREHS WEHRY gEw
(@) fafem =2
it S
(1) (@) S (d) S (@) (b) 3nfor () FR
@) (c) anfor (a) whar 4)  (d) @i (b) SR
Indian economist Romesh Dutta had written an open letter to Lord Curzon stating which
of the following reasons for the poor economic condition of the farmers ?
{a) Excessive Land Revenue
(b} Droughts
{¢) The government overlooked the canals
(d) Various Taxes
Answer options :
(1) (a) and (d} Correct (2)  (b) and (c) Correct
(3) {(c) and (a) Correct : (4)y (d) and (b} Correct
13, e 9 faurite s e 2
(a) vea Fo s snifr e whifosert fisit W 1907 wed Sforeifiar 349 dfegr ey

TR TATYAT HEl, TET BREATE Fisay Avarfay 1911 HEd g Hedsy) SRan el

(by arEmTe A T 1913 Aol ©F Wit 39 e o= e Fefl. @i aRfnn e

2 QI RG] TSRy AT W el
qaid 34T _
(1) e (a) (2) @ (b) @ = @) uEE T
Which one of the following two statements is not correct ? :

(a) Sohan Singh Bhakna and his revolutionary friends set up the Indian Independence
League at California in 1907. The activities of the league increased in 1911 with the
arrival of Lala Har Dayal.

(b) In 1913 Tarakanath founded Ghadar Party at San Fransisco. He toured America
extensively and tried to arouse anti British sentiments among the Indian settlers.

Answer options :
{1} Only {a) (2} Only ) (3) Both {4}y Neither
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10 A

et faaiis) SR srimg o ?

(1) s el dey werg R Heres Tl

(2) e faerr A stasa e ) wE wwany TR foem € it sgwet,
(3) Wig W WEY™ W& TN 11 §A 2001 Fax

(4) T S TEL

Which one of the following statements is incorrect ?

(1) India’s relations with United States were never very cordial.

{2) The bore of contention is Indias refusal to sign Nuclear Non Proliferation Treaty.

{3) However the relationship changed after 11 September 2001.
{4) Nore of the above.

15, a’Fr Freritat Fro T a2
{(a) ey e foee Falem R M@mﬁvmmﬁéaﬁa@é%aﬁ
(b) Wmﬁwwm%mawmmﬁmwﬁn@m
- it S
() F@@) Q) @ () @) I= ) ot
Which one of the following two statements is cotrect ?
(a) The South Indian Liberal Federation was also known as Aniti Homerule League.
(b} The South Indian Liberal Federation submitted a report to Montegue that Home
Rule should not be granted to India then. '
Answer options : .
(1) Oniy (a) .(2) Only (b) (3) Both (4) Neither
16._1857WWWWW@%? |
| (a) wETEER s RrER
(b) fTa mETE S
(c) oM wEgTEH e
{d) e
i @Y _
(1) . (a) (b) S (c) W (2)  (®), (c) 3ufT (d)
(3) - (a) ST () Fo @) (o) wnfor (d) waRr

Who from amongst the following participated in the Revolt of 1857 7

{a) Ramaiji Shirsat of Sawantwadi

(b) Zinnat Mahal Begum

{¢) Khan Bahadurkhan Rohila

(d) Nusrat Shah

Answer oplions :

() (@) ®and()oenly (2) (b, (c) and (d) only
{3) {a)and (c) only {4) (c) and (d) only
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17. « =T 1895 A qouRter sty wty wRg sfeayEr o e,
e veE Y ol dereia faa Se o el e
o HICENR WEIW HCHT gfeummr il efaet wu gar seas

T HI Bl 7
() EEER (2) ST e
(3) T FEE (4) e PR

*  She participated in the Pune Session of the Indian National Congress in 1895.

*  She became a doctor after having studied medicine in Mumbai and Euiope‘ |
*+  She joined dﬁty as a doctor in a state owned hospital in the Kolhapur state.
Who was she ?

{1) Rakhmabai {2} Anandibai Joshi

(3) Krushnabai Kelavkar | (4) Kashibai Kanitkar

18. TEiT faumis! R a9 Té@ ?
(1) i 24 91 1947 ft i S AR Wi e TG A W R W
(2) 8 391 1947 ISt il e S T | WA 96 W o N S He
(3) irger yRa™ faumse @ st deare iyt T e, o

(4) wiwe o 7 w09 e s ffew werd wien @ @i § RaET
. |

Which one of the following is not correct ?

(1) On 24 March 1947 Lord Mountbatten replaced Lord Wavell and became the Viceroy
of India.

(2)  On 3 Tune 1947 he announced division of India into two independent and sovereign
states - India and Pakistan. '

(3) The Congress never wanted the country’s division on communal lines.

{4) The Congress had to acéept the division because the British Government insisted
upon it for their own selfish reasons.
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19, @iEds! ster faum wond ?
(a) UTEHE wEHTT Talq S T U Feww A0 A,
(b) Avw Jefter Sl wolt farfay defrai=h oma.
(c) Wmﬁamwﬁ&ﬁrmmmwnﬁiww
(d) m@aﬁamﬁm@mmm

it say | _
1) (a) T (b) w @) (a) 3 () TR
(@) (b) anfor () we @) = e s

Which of the following statements are correct ?
(a) The most outstanding cave of the Rastrakut period is the Kailash cave.
(b) The Jain caves at Verul belong to the Digambar sect.

{¢) Many beautiful temples were built at Pattakadal, Badami and Ter during the
Chalukyan period.

(d) Trimukhi idol sculpture in the Gharapun caves is well known.
Answer options :

(1} (2)and (b) only (2) (2)and (c) only

{3) (b)and (c) only {(4) Al the above are correct

20. R Wreren deula 1@ famiet wog fagm a@ond ?
(1) e st wey e i ofsd ande. |
(2) s e T T R W g S aer we.
(3) IR, T wiaay, Tl § UERR HOR 9 HIIER TIIER q9he IR (1966) M= qeramss
L -
(4) T g FreETR T T et s Wi Ar wew e fe TN,
z‘\;:g?t (;ne of the following statements about our reiatmns with the Sovaet Union is not

(1) Our relations with Russia have always remained cordial.

(2) At the global level neither Russia nor India has ever cherished an idea of joining any
alliance against one another.

(3} Indo Soviet Treaty of Peace, Friendship Cooperation and the Tashkant Agreement
(1966) signed over the Kashmir issue was at the instance of Moscow.

(4) After the collapse of the Soviet Union the relations between New Delhi and Moscow
are not cordial.
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21. ST et T, T, W, T, § 0, S, W, T, . an snfty ut sy
frregt | Wfae snfday 3w wurT en. werdl syt wior gt ?

(1) TEE T (2) IR FE

() TH T (4) SO WS

After India’s partition, FN. Souza, S.H. Raza, K H. Ara, H.A. Gade, SK. Bakre and one
more person came together to form the Bombay Progressive Artists’ Group. Who was the
sixth person ?

(1) M.F. Hussain  (2)  Prithviraj Kapoor

(3} AKX Hangal (4} Annabhau Sathe

22, 1945 wed faeeiren erel froeuma signg i SoeR Srerdied) GEoATd 95 G e 07 8 2

(a) TSI TR €T (b) e e

(¢) T areTERE e (d)y TOERRAY

T vy

1) (@) (b) 3T (d) =G ) (®), () 3for (d) F

(3) (@) ST (b) W (4)  (a) ST (d)

Who were the lawyers at the time of Azad Hind Sena’s prosecution at Red Fort in Delhi in
1945 ? ' '

(a) Pandit Jawaharlal Nehru {b) Bhoolabhai Desai

{c} Dr. Babasaheb Ambedkar {d} Tej Bahadur Sapru

Answer options :
(1) (), (b) and (d) only (2) (), (0) and (d) only

(3) (a)and (b) only {4) (a) and (d) only
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23, i fir FE FTE 1878 SN e Wieere FE faun e sa?
(a) et wifi U HRE A FEWE AiSGT WER HROIER e T weeart e o

(b) TR HEAERRS AT O AT SR quT SIeEie 20ar ST
RESU

(c) o ST G S wifew RS SR €.

yafdt It _

1) (2) 3 (o) W (2) (a) ¥ (b) T

(3) (a), (b) 3 () w @ ()9 EH

Which of the following statements are true about the Vernacular Press Act of 1878 7

() Vernacular Newspaper publishers and printers had to give in writing that they will
not criticize the government policies.

(b} The owners of Printing Press had no nght to go to the court agamst the action taken
by the government.

{¢) This act was applicable only to the Vernacular Newspapers,
Answer options : :
(1) {a) and (c) only (2) (a) and (b) only

(3)  (a) (b) and (c) only (4) (b} and (c) only

24. felre womdw fayrrsar devia Erierds) S fram atew sma?
(2) 1910 wed IS wfgaves dwr wRfal.
(b) 1912 8} sreqeaan Framor wfiwg wefaeft,
(© go % ifsememre T,
(d) T s T

1) (a), () N (o) =R ) (b) 3f () B
@) (), () & (d) T | (4)  (a) 3T (d) weRr

Which of the following statements are true regarding the depressed classes Mission ?
{(a) Arranged a meeting for prohibition of Murali custom in 1910.

{t) Organized a conference for redressal of Untouchability in 1912,

{(c) Establishment of Ahilyashram at Pune.

(d) Establishment of Samata Sangh.

Answer options :

(1) (@) (b) and ) only (2) () and () only.

(B) (), () and (d)only (4) (@) and (d) only

Hoeal HITTHS W /SPACE FOR ROUGH WORK
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25. A WETEE:
@ T el () TSNS GE W T HiE e
(b) TR i) T Ty e
() W AR (i) Wﬁmwwmsﬁ%w
() Eeh e (iv) SreFen =1 faetar w1 Serant
T I
@@ () (o (9
1 @ @) @) @
@) O (@) v @)
3} @ Gv) @O (i)
@ G (v @) O
 "Match the pairs : o - ' '
~ {ay Ram Joshi ' iy Latpat Latpat Tujh Chalana Ga Mothya Nakharyacha
{b) Parashram {ii) Sundara Manamadhe Bharali '
~ {¢) Sagan Bhau - (it} Nirmal Mukhada Chandrakar Sarai Nakachi Shobhate
Dhar
{d) Honaji Bala {iv} Lekarala May Visarali Kasa Ishwartari
Answer options : :
(@ () (9 (@
® @ 6 @ O
@ O @ @) @)
G @ v (O @
@ @) G ® |
26. 1858 =T Uit STERATAT YEeE) wor adt e ?

(a) wreftais efds Sfrermd SR T=8T FOR TEL

(b) R HeATTEHN SUA] ohevel I Wkl HIGTE,

(c) ST STHeS! TEa WIETHT Fell wwite.

(d) o T oA ST ek feer sl

it S - _

(1) (a) 30T (o) @ () sufor(d) @ @t (@ (=
Which of the foliowmg terms were not included in the Queen s proclamation of
1858 ? :

(a) The government will not interfere in the religious life of the Indians.

(b} The treaties signed between the English and the Indian Prmces will be honoured.
{¢) Only the states with anarchy will be annexed.

(dy Higher caste people will be given jobs.

Answer options : S
(1) (@and () = (2) (bjand{(d) @ (and() & (and(d)

HEAT WHTETS AT /SPACE FOR ROUGH WORK

P.T.O.




KO6

i6 : A

27. e g, fasamas ore, wevdian Tawad snfor v weter w fesgisma wiord e wne

1Y ?
(1) e faar vemys vgdh e
() e e fig W weE S,

(3) i Ta e T T S,

(4) T GRS QORERTT GER Hae.

What is a common factor among the ladies - Leelatai Patil, Vijayatai Lad, Laxmibai
Nayakwadi and Rajutai Patil ? _

(1) They were married according to Sétyashodhak rites.
(2) They were the members of Azad Hind Sena.

(3} . They participatéd in the Goa Liberation Movement.
{(4) They participated in the Prati Sarkar of Satara.

28.

Jge e searenaras TEE o et So) faam w2

(a) W gt e 7 ofRfuadie wamdined sy WO (Self Rule) = wmef
e, .

(b gmmmwm@awwwwm

it e

(1) %9 (a) 2) %am (b). 3) ) Tl TR

Which one of the following two statements is not correct about the Nehru Committee
Report ? ' '

{a) It demanded Self Rule of the kind as it existed in other British colonies like Canada
and Australia. ’

(b) It also favoured reorganisation of provincial boundaries on their natural geographic
- basis. '

Answer options :

(1) Only @) 2) Only (b) (3) . Both (4) Neither

e HIUHG 9N /SPACE FOR ROUGH WORK
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TEIeE! wER AU 9 §9E SEhe TF Al R ?

(a) mﬁmﬁmamwﬁmwﬁmm&mwwmmmm

(b) FR A TEeE TR R R ¥ e,

(c) Tegearma fig o qaemm € 39 U R

(d) TETHAM WA TEE F O .

i 3wt

(1) (@) T (b) | ) (9@

@) (o F @) udw wd

Which of the following statements was/were made by Sir Sayyed Ahmed Khan ?

{a) Unless the modern education and English language are adopted, the progress of
Muslims is difficult.

(b) Hindus and Muslims are the two eyes of an Indian bride.

{¢) Hindu and Muslim are two separate nations in Hindustan,

(d) Muslims should stay away from Indian National Congress.

Answer options ;

(1) (a) and (b) | 2y (0 and (d)

(3) () only (4) Al of the above

30.

eber 2 et o T and ?

() weTEfidel sy g siferE yRife mup Yayar Se sregeen snft wfen At
sygelfar ur foe 18, TRt Sl ginvaraes Fe 19

(b) = wfiden wd weea STeR Yeden Teuam uifder e
ugiHt 36y
(1) 398 (@) @ %Fs () 3 A (4) TFE E

~ Which one of the following two statements is correct ?

{a) Inthe Constituent Assembly the ] & K was represented by the Prime Minister Sheikh
Abdullah and his nominees. This was done at the behest of Jawaharlal Nehru.

{(b) = All the members of the Constituent Assembly unanimously agreed with the above
suggestion.

Answer options .
(1) Only (a) (2) Only (b) (3) Both {(4) Neither
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A e

wifgfgg wm ods

(a) AT IreqTEAm HiwT 79 Bvarg uifdsn faa,

(b)  AISHER 1946 Hd S FiATSA THE IO 5 e,
(c) ool 9. o w wifafee ¥ Anafvam R,
it 39 ;

(1) (a) 37T (b) 5 AR, (c) TF IR

(2 (b) SftT (c) U A=A, (a) T L.

By (@), ®) () T e e ek

(@) (@), @) ) T fm =% e
Krantisingh Nana Patil :
(a) Supported temple entry of untouchables.

(v} Was forbidden from making public speeches by the- Cem:rai Provmces Govemment
in 1946,

{c) Was given the title Krantisingh {Lion of the Revolutzon) by Acharya PXK. Atre

Answer options :

(1) (a) and (b) are correct, (c) is incorrect,
{2) (b and (c) are correct, (a)' is incorrect.
(3) (a), (b), (c) are all correct. -
(4) (a), (b), {c) are all incorrect.

32.

wmﬁmﬁmmmm? -

(a) 1962-63 =1 W - aﬁzﬂwﬁmmm%wmmmamftmﬁ?ﬁ

(b) m@wwwmmﬁww&ammmw
WERHET gEarl,

yafdt I9

1y wES (@) o (2) FES (D) @) - @ W‘ﬂﬁ

Which of the following two statements is correct ?

{(a) Following the Indo-Chinese border conflict in 1962-63, India gave large-scale military
assistance to Bhutan.

(b) Bhutan also had a very cordial relationship w1th the Bn’ash Govt earher and had all

" the help from them.

Answer options :

() Only@ (2 Only() @ Both () Neiher
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33. ¥ weww Adie wfioivecen Fol Sued 9e Tl BR. oA odd wed 9 wd o e
WEAEE e,
|t era Hor?
(1) g e
(2) v wEg
() ey ageTeT
(4) T TR

He was the chief priest of the Kali temple of Dakshineshwar near Calcutta. He also said
that all the religions lead to the same God.

Identify the person.

(1) Dayananda Saraswati -

(2) Bharatendu Harishchandra

(3) Bankimchandra Chattopadhyaya
(4) Ramkrishna Paramhamsa

34, e SR Fauit W g s
(1) WEAFER ATEY TfRErmYd SRevs wvdes gud,
() s FifREn A A R FE.
(3) vIRET Wi sRTmE aemEe oAt T,
(4) W IRaE feel e
Which one of the following four statements is incorrect ?
(1) Soon after independence raiders from Pakistan invaded Kashmir.
(2) The people of Jammu and Kashmir supported them.

{3) The Indian army was sent to fight against the invaders.
(4} The State got acceded to India.

35. faz. gt a7 SR 1905 o your TR werEt 9 ¥l wde ¥ wridf
() Fosgm wOwy (2) T qERE qUey
(3) i wwst sreae (4) G T T ,
V.D. Savarkar conducted a bonfire of imporied cloth in Pune on 7% October, 1905. This
freedom fighter was also present on the occasion.
(1) Shivram Paranjape {2} Raghunath Purushottam Paranjape

(3) Kashinath Krushnaji Athavale (4) Sakharam Ganesh Deuskar
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36, aTeN friTeg sfdE snyfraieom 6 T ST HRETE SEH g, saiEt sl
i+, fegua i e e oo veam el el wiven srera Ml geess
e feeft ?
(1) firemd (2) TITHEN (3) TR (4) R

Planned Economic modernisation of India included the construction of three Steel Plants,
with the help of Germany, USSR and Great Britain. Which of them was visited by Nikita
Khrushchev ? _ .

{1) Bhilai (2) Rourkela (3) Durgapur {4) Bokaro

37. EESN WA YeIET SO S Wewrl farferyas den faem dufre @t wnn i
T HeAT § T IgEE 9, e U T TR SN AT gEd e S ?
(1) dwfe qur s srdy wfyg (CSIR)
(2) TRT Y@ ATHYE WeH (TIF R)
(3) wrara g Heur (11Se)
(4 e Wefra g (117)
Renowned Scientist Homi Bhabha founded and directed two major Scientific Institutions
that symbolise Nehruvian Vision. One of them was Atomic Energy Commission. The
other was :
(1) Council for Scientific and Industrial Research
(2) Tata Institute of Fundamental Research

(3)  Indian Institute of Science
(4) Indian Institute of Technology

38. fafay foreai= asy = =l Wmmwm@mmﬁﬁ
(@) HraHT HHYA
by el feeidy =i
() g wmm i gfeem W oy wrrTy
(d) wrey s sk
i WY
(1) ¥ (b), (c) M () () ¥ (), b) W ()
(3) @ (2) A (d) @ ¥ @) ) () F (@)
As an expert on various subjects, Dr Babasaheb Ambedkar testified before :
{a)  Simon Commission '
{b} University Reforms Committee
(©) Royal Commission on Indian Currency and Finance
(d) South bourough Comimittee
Answer options : :
(1} (®), (c) and (d) only (2)  (a), (b) and (c) only
(3) (a)and (d) only (4) Al (), (b), (¢} and (d)

ﬂ
|
;
|
|
|
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39, Iy w7

(1) QAT FTE T w6

2) mmwm@mmmmwmm

3) WW{&WWMWWM

(4) Toar s w4 orel feean fuesrar vevp Toen Hed

What was the Tebhaga Struggle ?

(1) Struggle for independence of Tebhaga region.

(2) Struggle for keeping two-thirds of the harvest for the share-cropper.

(3) Struggle for a small piece of land between India and East Pakistan.

(4) Struggle for keeping at least one-half of the harvest for the share-cropper. |

40. TEIF Q9 faumits) SR FANY AR ?

@) WMWWWW&W/W'W&_WWWWa
HgE ffaar @13 &7 wiwwrm 99,

(by IS SO AT W ST, T g e W & i e
it gy - |

W FwE @ e @ W @ wh
Which one of the following two is incorrect ?

(a) After partition many jute and cotton textile factories had to be closed down for
shortage of raw material as major jute and cotton growing areas went to Fakistan.

(b} There was also a shortage of food-grains in India as large parts of wheat and rice
growing areas were now parts of Pakistan.

Answex; options :
(1) Only (a) {2y Only (&) - {(3) Both " (4) Neither
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41, Wi Yasen gt HRo o e fwm e se o

(a) THTETETEAT UTUAT T
(b)  wfterten fay
{c) aroft wen oy
(d) wRmEEen e
ot gy ;
(& ® ©@ (@
M @ 0 @ W
(2) Gv) Gi) (@) )
@ @) @) 6 O
@ @ @ @ @)

L) SEEH, 9

Gi) wmeiyery ey 92w

(i) gFY oy

(iv) STYIHT, dome

Match the causes of Peasant Struggles with their places.

{a) Canal water rates
(b) Anti Zamindari
(¢} Anti water tax
(d} Anti revenue enhancement
.Answer options :
(@) & (o (9
O @) @ @ @)
(2 (v) @) @) @
By @) ) O 6@
@ @ @G @) @)

(i} Burdwan, Bengal

(i) Kalipatnam, Andhra Pradesh

(it} Sukur, Sindh
(iv}) Amritsar, Punjab

42, n.mwmmﬁrwmm.mmmmewm

(1)  TEE &En
(@) s smEm

Before which Commission did Mahatma Jyotiba Phuie emphasme the need for the provision

of Compulsory Primary Education ?
n Simon Commission
(3) Nehru Commission

(2) T M
(4) OF-HS s

(2) Hunter Commission

(4} Morle - Minto Comumission
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43. g 3 Trumidw! How 9 R 7
(@) T e A i T R/ et e Jee S, am@am

39 farra,
(b) mmwwmamwwmw
it 3o
(1) = () (2) S (b) (3) (@ TFE

Which one of the following fwo statements is correct ?

(a) Raja Rammohan Roy regarded as ‘the father of the Indian Renaissance’ studied in
Varanasi and Patna. '

(b) He published journals in Bengali, Persian, Hindi, English and Sanskrit.
Answer options : _
(1} Only (a) (2) Only (b) (3) Both (4) Neither

44, SrETER PR SATE U MRS TR YA 4. SIeRTIE U SR o T
e g wevar Yoo foeft g & v Yol 9 arwd, 91 sy e w2
1) FFES | @) T S
(3) TER wEe (4) ToE e

Chhatrapati Shahu Maharaj actively discouraged untouchabliny He motivated a person
to start “Satya Sudharak” Hotel in Kolhapur which he would regularly visit. Name the

person.
(1) Krishna Kamble (2) Gangaram Kambie
(3) Ramchandra Kamble (4) Ganpat Kamble

45. tfeqr wER = gy e, @Wﬁﬁfﬁﬁ@ﬂ? Wgﬁaﬁrw&aﬁmm
| T ?
T MWWWW WIS B,
(@) wm s, St sl ae SREe 79 9h,
@y @ fafe faerd sl @@ &9,
(4) a8 e T

_ Which one of the foHowmg statements about Pandita Ramaba1 who was very leamed
“beautiful and intelligent is not correct 7

(1)  Shrinivas Shastri was her only brother
{2) Many ICS officers wanted to marry her
(3) She married Bipin Bihari Das’

. (4) Norne of the above.
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46.

24 A

15 Ne¥ary, 1955 Jsht Tod [T HEvTren Rrerefiel dase =l e, arded Ul 968 Reen
T feen gt w3, ' oeE A o e terng e wEE) W den . § uew
o ?

(1) g% i | ) @R wmE

(3) =fa mete (4) vHwE TF

On 15t November 1955, when the States ‘Reorganization Commission’s recommendations

were discussed in the Parliament, a member warned, “Anything short of Samyukta

Maharashtra with Bombay as a capital, will not be acceptable”. Who was the MP ?

{1) SXK Patil (2) C.D. Deshmukh
(3) N.V. Gadgil (4) Shankarrac Deo

47. @ A faumitE) won g e ?
(a) [ 1947 A ¥eUER SO FATTS A1 oo e, mmmmwmm
(b) UK TR TSR G 1947 7eA e foban wifpwarTe Werrt Qroar Wit e
vaieft 36y |
1) Fa () 2) FES (b) @) = (@) T T
Which one of the following two statements is correct ?
{a) In June 1947 the states of Hyderabad and Junagarh expressed their desire to become

independent sovereign states.

(b} The British Govt. prevailed upon them in July 1947 either to join Indza or Pakzstan
Answer options .
{1} Only (a) (2) Only(b) {3) Both {4) Neither

48. ydts B faumitet SR divg o ?

(a) orwEdH YR FOTE 24 T NS GEEATS1 AT TR QT T FE,

(b) & TERA WWWWW&MWW i

it st |

(1) ¥ () (2) %@ (b) @) (4) T
Which one of the following two statements is correct ?

{a) The 24" Amendment Bill which was passed in the Lok Sabha was defeated in Rajya

Sabha by two votes.

{(b) It was to terminate the privy purses and privileges of the rulers of the former Indian
States.

Answer options :

(1) Only (a) (2)  Only (b) {3) Both {4) Neither
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49, yEtw Odw! HI faun s R ?

(@) TSI STye oaTear GeaERIAIEt AT ST ST (SE aaEfarrade
it amr wieel ~ ¥ sfa 240 fol. 2.

{b) m@ﬁﬁwm%wmﬁaﬁm{ﬂf%ﬁ
it I | |
(1) %493 (a) (2) wES (b) G) @ 4) T

Which one of the following two staternents is incorrect ?

{a} Gandhiji undertook his Saltmarch from his Ashram in Sabarmati to the Gujarat
coastal town of Dandi - a distance of 240 kms. \

(b) The volunteers covered the distance in 24 days.
Answer options : _ .
(1) - Only (a) (2) Only (b) (3) Both (4) Neither.

50, gﬁaﬂwﬁmwmma%'?
(a) Wmmmméﬁ ‘vﬁm%ﬁ@nwmeﬂ%’mmﬁmﬂtgsﬁu

feen & weder wsees g dxwa wefae,

(b) eI 1961 R e AT Wee & A SRpIE i ST
@ .

et =Y -

(1) ¥ () @ ¥ (o) (@) () T

Which one of the following two statements is correct ?

(a) Political unification was a great problem after independence. France supported the
claim of Portugal that Goa was one of its provmces and came to Portugais help with
men and machines. :

:(b) Portuguese surrendered Goa in 1961 and soon after colonies of Afric_é_ also got free
of Portuguese.

Answer options :

(1) Only @ (2) Only (b) (3) Both (4) Neither
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S AR v Wyl for SIS HE AR 2

o T WS SR & ST Wee o o ell, wrisae el o o sdenfies
) O daeag 3. wR Sufes g o O ¥ oo T wuled weny sl

HE

(1) W aha S, T

(2) uEr o s, dwa foew
(3) wrdE graER) 94, | 34

(4) warSTERT enfer AL %, T

~ Which organization and a person are referred to in the statements given below ?

He made it a democratic and mass organization. Due to him the peasants and later on

even the industrial workers joined this organization. The workers joined it as individuals.

and not in separate organized capacity.

(1) Indian National Congress, Gandhiji

(2) Indian National Congress, Lokmanya Tilak
(3) The Communist Pafty of India, M.N. Roy.
(4) The Socialists, GK. Gokhale

52.

FIfre o WWWWWM%W Sl SER AE, S

sy ¥ weer R

(1) dfeem duyey fauer sifaw
(2) iy gofess srfagem

(3) gt foged

(4) faue st

Name the Cultural Front of the Communist Party of India whose members mciuded Balraj
Sahni and Kaifi Azmi.

(1) ' Indian People’s Theatre Association
(2) Progressive Dramatic Association
(3) Prithvi ’Ehéatres '

{4) Theatre Academy
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53. TEId oW faumide! Fiva o o ?
(@) s g T ai Sere weioaed OF ¥ 99 Hae aRdr e i s
(b)) e T A S F R we o e R,
RRIRi T
(1) ¥ () @) F () @ A (4) e @
Which one of the following two statements is correct ?-
(a) Raja Rammohan Roy established Vedanta College where Indian learning alone was
offered.
(b) Raja Rammohan Roy celebrated the success of the revolution in Spain by hosting a
public dinner.
Answer options :
(1) Only (g} (2) Only (b} {3) Both {4} Neither
54. qe et weR frum oy i)Y

(a) ey e stfufem 1859 wHTO W%WWW@WM
W:ﬁmmma mvﬁwﬁﬁﬁaﬂﬁé‘

(b) witfiefen SHEHR IuBaET @i AEHER FIRA. @M&Wmaﬁﬁﬁaﬁ
gl 3w
1) FE (@) @ Fu@ (@) (@ @ (4) TR

Which one of the following two statements is not correct ?

{a) Under the Inland Emigration Act of 1859, plantation workers (Assam) were not

permitted to leave the tea gardens without permission which was rarely granted.

(b} Under the influence of Gandhi}'i’s non-cooperation movement they defied the
authorities, left the plantations and reached home unscathed.

Answer options:

(1) Only (a) (2) Only (b} {3) Both {(4) Neither

oAl HIAMEET AT /SPACE FOR ROUGH WORK

P.T.O,




KO6 ' 28 A

55. e faamits] SR amima o ?
) e fie 93 niten g wuvvam owelt.
@ ?ﬁwawmwmﬁ@ﬁ
(3) forem oo wiet geet (W) WO,
(4) @ diw! e s T,

Which one of the following is incorrect ? _

(1} A womens regiment of Azad Hind Fauj was formed.

(2) It was under the comumand of Captain Lakshmi Subramaniam.
{3) Tt was called Rani }hansx Regiment.

(4) None of the above three is incorrect.

56. 1921 Weftel FETH YR S HECTE W RO 3% W e e w9 6,
(1) HEE wR wrEfe () S sive wiew e fhee
(3 v wUE e @) - TR TR
A Highlight of the Madras City Movement in 1921 was a four month long strike at :
(1) Madras Bar Council (2) Buckingham and Carnatic Textile Mills

(3} Rajahmundry Cloth Market . . (4) Guntur Municipality

57. faam - (a) w foem At w0 ded.
WO - (b) S e e wueidie R Ao UEE ATEEe) Toe.
it 3wy :

(1) (a)mwﬁmaz%aa(b)%(a;%mmmm
(2) (o) SIS AR, TG (b) g R,

@) (2) A ST (b) FHIA IR
L (4) (o) T IR, (b) A IR WY W () s e T
Assertion - (a) M.A. Jinnah left the Congmss

Reason - {(b) He disliked the 1E1~ciressed Hmdustam speaking members of the
Congress. »

Answer options :

{1) Both (a) and (b) are frue and (b} is the correct expianatwn for (a)
(2} (&) is true but (b} is not.

(3) (a}is false, (b) is false.

(4) (a) is true, (b) is true but not the correct explanation of (a).

HERT HIHTHIS WM /SPACE FOR ROUGH WORK '

L




A 29 _ KOé6
58. EETE W Hadtn qhae SR R T aR?

1) efifen focemde Teemrs 49 wiitftaes aoear danige fret geema e,

(2) SRR el TN TEEE W S F W e TReed Fe,

(3) AyTEEmia YaHd Ui 99 & 99 8 B

(4) T 1967 BEY T Yo a1 W weiwr Feh

Which statement about the Naxalbari movement is wrong 7

(1) 1t began as a land dispute in Naxalbari in Darjeeling district..

(2) The rural poor were mobilised against the landlords by the Kisan Parishad.

(3) Kanu Sanyal was the leader of the peasants in Naxalbari.

(4) '~ Radio Peking praised this struggle in June 1967.

59, 1927111?1”:“@:’: FATHUST FAA@Ie! AT @ 9 g wEwAe ‘q‘i%z'aa
Tferaatiaed agviimiEn A g,

(1) mmmmm
(2) ER WA 6

(3) mﬁqma‘@?{
(4) fespa Tl s

This organisation was established in 1927 with Dr. Ambedkar as its President and its
activities included interdining between Dalits and Non Dalits.

(1) Akhil Bhartiya Bahishkrut Samaj Parishad
(2) Samaj Samata Sangh
{3} Asprushyoddharak Mandali

{4) Bahishkrut Hitakarini Sabha
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30 A

IR, SEAE @ areArarad gl faumitet wivh e o ?

(1) it g @ v T A qEelA 1857 A SeTIE SR THA.

(2) i gieiet 7 gefvarar yaer S w @i gy e s e,

@) e yfeemim e fomdl el @l @i susim gew w0,

@) I 1857 =1 SSEHT SN TR fargel W"&E}aﬁf FRU TEIUIRAS F ?gﬂ’{ ESiCIEH
yfcore % e ¥ fafsvarns,

Which one of the following statements about Sir Syed Ahmed Khan is incorrect ?

(1} He tried to convince the British that the Muslims were not responsibie fot ‘the 1857
upheaval. -

(2) He persuaded the Muslims to avail themselves of the Engl;sh edueatmn

(3} He also requested them to show their support to the British zule. - -

(4) He wrote two books after 1857 one depicting causes of upheaval and the other to
show the effects thereof.

61. WWWWQQWWWWWW '
A ?
(1) Tafers wwiax ' (2) v feudle R
(3) Tfawdt (4 S e _ :
Which of the following position of hard and soft rocks is necessaty for the produchon of
Yardang in the desert ?
{1) Parallel to the horizon {(2)  One by one in vertical sztuatwn :
(3) Oblique (4) Indefxm’ee in the form '

62. MWWWW@?%&W&H&WW@? |

(a) Wwwwwﬂaﬁﬁmmwmﬁwﬁmlm
T ol a ey SR ER 1 fedeRen g, :
(b) eg HERTERA <fo- WMH&H@B}WWWW
w o
(1) &9 (a) (2) FaD (b} P W @ T
Which one of the following two statements is incorrect about the normal dates of
Monsoons ?

(a) The South West Monsoons start fi‘étrea’.cing" from the Notth West India around
15t September and retreat from South East around 1% December.,

(b} From the Central Maharashitra the South West Monsoons retreat in the East week of

September.
Answer options : _ .
(1) Only (a) {2} Only (b) (3) Both (4) Neither

HEAT SIHTHIS WA /SPACE FOR ROUGH WORK

AT L Fre e A AN . b - o

BT - et . S bt - T



A 31
63. WWWWW o] FEN W
1) TS, éﬁw, ECCEUCHELERE
(2) USnTE, REHTER, g, sfeETe
() FEHER, e, A, gReEsTe
(4) iR, o, TR, Tee

KOs

Arrange the following peaks of Maharashtra in the ascending order of their heights :

{1} Raigarh, Torna, Harishchandragarh, Trimbakeshwar
(2} Rajgarh, Trimbakééhwar, Torna, Harishchandragarh
(3) Trimbakeshwar, Rajgarh, Torna, Harishchandragarh
{4) Trimbakeshwar, Torna, Hai;ishchandragarh, Rajgarh

\64. areterdan v/ Fort faar faam s /a2
(a) 15 3FTEE 1999 Jsht Wl Freeura s o,
(b) Tl wamy e fararr aad o,

() TwHA g R TR oTe.

Wf'éi'?i?ﬁ‘:
1y Faur () (2) Tour (a) 30 (b)
(3) faum (o) =for (o) (4) T (a), (b) 310 (o)

Which of the following statements is/are incorrect ?

(a) Parbhani district was divided on 15% August 1999.
~ (b) Hingoli is located on the bank of the river Kayadhu.

{c) Vasmat tahsil is in Parbhani district.

Answer options :

(1) Statement {(a} {(2) Statements (a) and (b}
{(3) Statements (a) and () (4) Statements (a), (b) and (¢)
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65. dowgrt afvfa srqaifyrs sffecnren sy SETET SARET STHEE, aﬁwwm%wﬁmw
forrferg ¥4, 3 SR ?

1)
)
(3)
4)

7, 9, 9%
srgwelt, 1P, Wyien wedt
ed, sreHTadt, fresit, yafstea

Based on the genetic classification of Powel, Davis further classified the valley types
according to slopes. What are they ?

1)
(2
2
4)

Young, Mature, Old

Consequent, Subsequent, Obsequent, Resequent, Insequent

| Syncline, Anticlyne, Faultline

Antecedent, Superimposed, Drowned, Rejuvenated

66. meﬁﬁmﬁaﬂmmwwmﬁmwmmﬁwmw
ToET SAT wATHT 4 i frazi -

M
(2)
()
4)

FlieE, ST, #waévr,mﬁmt@ ‘fmﬁi
Flew, TOUGE, T, AHSTE, RN

According to the National Tiger Conservation Authority’s report on '?1ger Census of 2014,
select the proper optzon of states with the hxghest number of tigers in a descending

order :
)
(2)
3
4)

Karnataka, Uﬁarakhand, Madhya Pradesh, Tamii Nadu, Maharashira
Uttarakhand, Madhya Pradesh, Karnataka, Mahar_aéhtra, Tamil Nadu
Madhya Pradesh, Uttarakhand, Karnataka, Tamil Nadu, Maharashtra
Karnataka, Uttarakhand, Maharashtra, Tamil Nadu, Madhya Pradesh
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67. 2011 = SRRHEHlE qEi < it wivd st o ?
(a) e, He TR, O, ot forerma fefueiR vl 925 dan wHT TR,
(b) rafeiel T i freema fefmpeia wuad 925 Yan wfas =,
Tatdr I
1) F9% (a) 2) 92 (b) (3) w= (4) wwE R
Which one of the following two staternents is incorrect in respect of 2011 census ?
{a)} Mumbai, Mumbai Suburban, Pune, Thane have less sex ratio (<925}
(b} Gadchiroli and Gondia have higher sex ratio than the average { > 925)
Answer options : .
{1} Only (a) (2) Only (b) {3} Both (4) Neither

68. eI oM faurite! wivd @Y g ?
(a) @mewwmmwﬁm@amﬁﬁwm
(b) Trhed FeTE wergued sngd =i o fEgen Teiwd o,
il 3w
(1) %93 (a) 2) ¥ (b) @ A (4 wwd
Which one of the following two statements is correct ?
{a) Hussain Sagar is a fresh water lake in the city of Bhopal and is one of the most
polluted.
(b) Loktak lake is situated in Ladakh beyond the Chang La Pass,

Answer oplions :
(1) Only {a) {2) Only (b) {3} Both - (4} Neither

69, I oM fagmiie SR 9 ey ?
(a) Wmmmmmmawmwmwmw
HREATE WA SR,
(b) aa et THirawd iy v wfdtta o wset swaten v gl e T
I 39l
(1) %9% (a) () ¥ (b) (3 & @ TR

Which one of the following two statements is correct ? i

{a) In Maharashtra Tropical Moist Deciduous Forests and Tropical Thom Forests are
almost equal in extent.

(b} ~ The above two together however are not even equal to a third of Tropxcai Dry
Deciduous Forests in extent.

Answer options : _
(1) Only (3) (2) Only (b) {3} Both (4) Neither
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70, @eite faur ue
(a) T Ao R Y 39 et W
(b)Y e e Fe fraa e . | |

(c) YIRS TV WIS Uisurdet 60% 918t WeHR| SR, é
it 36y . ' '
(1) v faum () SRR oM, (2) - e fasT (b) ST SR,

@) Ul () anftr (o) S I, () Faur (b) 3nfi (o) W aTRA
Observe the following statements : | |

(a)- Iron ore is found at Pimpalgao hill of Warora tahsil.

{b) Coal is exported from Redi fort.

AR e T ke s

(¢} Out of the total reserves of manganese found in India 60% reserves are found in
Maharashtra.

Answer options :
(1)  Only statement (a) is correct (2) Only statement (b) is correct
(3) Statements (a) and (b) are correct (4) Statements (b) and (¢) are correct

71, et 9 fauridel won ana a2
(a) SRUM TEEe Maid gaye] TR gEysaRTaEl qe.
(b) T wata I VEET YR T A,
() % (a) 2) %@ (b) @) <@ @) S T |
Which one of the following two staternents is correct ?
() | Gokak waterfalls on the Ghataprabha river resemble Niagra Waterfalls.
{b) The highest waterfalls in India are located on the Sharavati River.

Answer options : : |
(1) Only (a) (2) Only (b) (3) Both (4) - Neither
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72, e faum g |

(a) Toweflurgmren frraedld aRET SUEH WU,

(b) femay, ol @ w0 e WA TR |

() TueeE wiie! frraes frlo S aRe SR wm.

et v :

() &% foum @ atst . (2) 56U (2) 3 (b) SO e

@) fm e aRs. @ T (), () 3 () S .
Observe the following statements :

(a) The cyclones on the coast of Philippines are known as Typhoons

(b} Victor, Katrina are the names of Hurricane cydones

(c) The cyclones ongmatmg near the coast of Fionda inUS.A. are known as Tomadoes
| Answer options : : o

(1) Only statement (a} is correct (2) Statements (a) and (b) are correct

(3) Statements (b) and (c) are correct (4) Statements (a), (b) and (c) are correct,

(1) mmﬁ%mmw%—a

(2) mawwmwmm/wmwémwﬁm
(3) WA o UIRHEIE] T o o fawa seagtea woll SRaEret U el .

@) IRaren U=, foemy o waerss o fess o wfewaren e, dem, sewd.

W}uch one of the following statements about the Indus Comrmsswn is not true '?
(1) ”Fhe Indus Commission has been set up by the Worid Bank.

(2) Itis a temporary Commission to look after the dmagreement arisiﬁg;'yﬁeﬁveen.india
and Pakistan, :

(3) As a result a treaty was signed between India and Pakistan for sharing waters of
Indus and its tributaries.

(4 India gets waters of Ravi, Beas and Sathyj and Pakistan gets waters of Chenab,
. Jhelum and Indus.

WERHT HIWHS S0 /SPACE FOR ROUGH WORK

P.T.0.




KO6 36 | A |
78, WrEietEt Hon e ae
(1) RTRE=T SIS GTEEE TR T .
(2) sz @ wwaRa G 3R,
(3) TTEIIIRA TR ARiCAl WEHT GRS WS Aewh,
4) TEF TeF ISR TR S,
Which of the following state;nents is incorrect ?

(1) Calcium is converted into graphite due to the heat of lava.

(2) Anthracite is a type of metamorphic rock.

B e s . .- oy A

{3) Mineral oil deposits are found in the carbonaceous rocks.

{4) Dyke rocks are made of lava.

75, i e R S o R ?
(a) elfes wer e sammET YRR ema%r |
(b) edfes T TE, Steqfrmam, mam 3T,
it 3w :
() %98 (a) @ %m0 @) & @ RSl
Which one of the following two statements is correct ? |
(a) Lateritic soils are typical soils of Monsoon climate.
(b) Lateritic soils are rich in iron, aluminium, potash and lime.

Answer Options :

(1.) Only (a) (2) Only (b} (3) Both (4} Neither
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76. Sresn @
e LT
(a) W_ () Hrae veye
) s ) e
© w3 i) e s
@ fiv) TR
maﬁ:
@ B © @
M @ @ @ 6
@ 0 @ G) @
@ G ) 6 @
@ @ @ @ 0
Matich the following -
District Waterfall
(a) .Ahmadnagar {1y Sautada waterfall
() Amravati (i) Sahastrakund waterfall
(c) Beed (i) Randha waterfall
(@) Yavatmai (iv). Mukfagiri waterfall
A;nswgr epéip_ns :
@ ® © @
M @ @) @ o
@ ® Gv) @) ()
G) @@ ) 6 @
(@) vy @ @) 6
o FTTEE WA /SPACE FOR ROUGH WORK
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38 | A
e € fraitel g 9 Ry
(a) mmammﬁammmxw% |
(b)  IETHE, e, W?}eﬂﬁmmmmaﬂmﬁm
ot I
(1) % (a) @ w@EH @) (4) TG T
Which one of the following two statements is correct ?

(a) Karewas are the lacustrine deposits in the Valley of Jand K.
(b} The Karewas of Palampur, Pulwama and Kulgaon are known for superior quality

Walnuts.

Answer options :

() Only {(a) {2} Only (b) {3) Both (4) Neither
78, o’ e wepeiaa gt wdteR wiudet € o) wodt g ?

(1) Jeed g fagwaw ) (2) wE0 e s

(3) TESHAWT § 9 - (4) FEFAE 8 Yrea

Which are the two dams constructed on Purna river under Project ‘Purna’ ?

(1) Yeldari and Siddheshwar - ..(2')- - Kaveri and Ujard

(3) Khadakwasla and Ujani (4) Jaikwadi and Panshet
79, y&Er @ Tw FoR feue g e ?

(@) O, serd, s, mmmﬁwmw@a

(b) wmmaﬁwm&mmmmmmamwm&
FdT TAHC WU,

uufzﬁaﬁ‘t

(1) % (a) (2) ¥ (b) @ (4) T
Which one of the following two statements is correct 7
(@) Nellori, Bellary, Gurejt, Keshri are the breeds of sheep in India.

(b) Indian wool is inferior to that of Australia and South Africa in quality and is s called
as coarse carpet wool. _ _ _

Answer options ¢
(1) Only (a) (2} Only(p) (3) Both (4) Neither
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80. TEtE B faumiET Wi ardtry o ?
(a) T wEiYA gee wolw, W, WRR A9 w99 He1 e HIRd Uiy TrEaarstd wel
(b) ufyem Serded awid mmmmm
i wt
W ¥w@E @ s 3 @ @) TR
Which one of the following two statements is incorrect ?

{a) Rice research institutes have been established at Karjat, Khopoli, Ratnagiri but not
at Sawant wadi. ' ' '

(b} In West Bengal three crops of rice are taken in a year.
Answer options :

1) Only (a) 2 Only(®) (3 Both (4) Neither

81. T2 femremndiar 4 fEsh g oma. e q@R faum fae,
(1) uw o fearae e ool S
2 e fofe i im g Wed.,
(3) I W HREERH Treree e,
@) g e s wRa SeR We,

Consider the following four passes of Himalayas. Which one has not been stated
correctly ? -

(1) Bara Lacha connects Himachal with Leh Ladakh.
(2)  Burzil pass connects Shrinagar with Ganga valley.

(3) Chang La connects Karakoram with Ladakh.

{(4) Diphu pass connects Arunachal Pradesh with Mandalay.
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40

e faem e . |

e

(b) TgE TSH WF TSF A |

i 6

(1) & faur (a) ST 3118, () R faYE (b) SUET ST,

@) famd (a) anfor (b) st snRa. @) Taum (a) enftn (b) sl T,

Observe the following statements :

{a) Erratic rocks are found in the region of glacier work.

{b) Erratic rock is a local rock.

Answer options :

(1) Only statement (a} is correct (2) Only statement (b') is correct

(3) Statements (a) and (b} are correct (4} Statements (a)} and (b) are incorrect

83.

wrefte faum ugr

(a) g TOEE wea 5.12 WA wf ww A e,

(b) gest=AT vEaETE! W9ar 2.8 7H wia W |.HL o

i I _

(1) w9 (a) TN = (2) e Faum (b) w IR,

(3) faum (a) anftr (b) e oTRE. (4) famd (a) enfir (b) sAe e,
Observe the following statements : | _

{a) The average density of the earth is 5.12 gram/cubic centimeter.

(b) The density of the earth’s crust is 2.8 gram/cubic centimeter.
Answer options @ |

(1} Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct (4) Statements (a) and (b} are incorrect
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84. fyofrd o s ?

)
@
3
4)

I e AFATAT WA HTAHe TaR FRieh IR

T G S TR FEE IHER
FrdE] W AT KUl HTAles TR Seieh YaTRrR
o= O e TR AR YRR

What is inselberg ?

(1)
(2)
(3)
4)

Land form produced by erosional work of wind in desert area.

Land form produced by erosional work of river.

Land form produced by depositional work of wind in desert area.

Land form produced by depositional work of glacier.

KO6

85, @iy faue e

(a)
(b)

SHARrey wew § wild e go® TRd.

A TeEmed 95 T IR ST

gyt suy

)]
(2)
)
(4)

e faur (a) S0 R,
waa fum (b) sliee o,
faud (a) nfor (b) wdeR oA
faud (a) 3fr (b) sV A

Observe the following statements :

(a)
(b)

Arenaceous rocks are the types of sedimentary rocks.

The percentage of sand is high in Arenaceous rocks.

Answer options !

M
2
3)
4)

Only statement (a) is correct
Only statement (b} is correct
Statements (a) and (b} are correct

Statements {a) and (b) are incorrect
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86. WﬁWW%WwMWWaWW
HIRE U ), |

(1) 25 3% T ARGITARE 0T e e .

(2) yeitera raeT GEEYERT fEseR gftors gl o | |
3) T& TR FHEEETHR A g fo see. |

(4) =0 e

Regular and continuous cycle of ocean currents like Atlantic and Pacific oceans, does not
run in the Indian ocean; because :

(1) Region beyond 25°N latitude is occupied by continents,
(2) Direction of the ocean current is deflected iﬁy conventional winds.
(3) The direction of Monsoon on Indian ocean changes in various seasons.

(4). All the above. | ' ‘

87. e A Faurtet T )
(a) mﬁawmﬁwmﬁmw@%&m&mmwﬁmw T

qfsgreaT SRS el 218 WS s
(b) 7 T3e A SIS ST WA T SRR R,
weatelt 3 -
1 m(a) @2) @ (b) ® a’r%‘? '.'_(4') T T o

Which one of the following two statements is correct 7

(a) Copper when alloyed with zinc is called ‘brass’ and with tin as “bronze’. Rajasthan
has the largest deposits of copper ore.

{b) Madhya Pradesh stands first in India in the production of copper ore.

Answer options :

(1) Only (a) (2) Only(® (3 Both () Neithe;

ol HWTHIS | /SPACE FOR ROUGH WORK
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e 2 faer i a2

() s SRS WERTE TR Fa W s o,

(b) SATIT AT IARVAE VA AT T G WeEH el T A T o gt
N o

qaiE 3 _

(1) ¥9% (a) @) ¥Ew (b @ ¥ @) wEaE

Which one of the following two statements is correct ? |

(a) Great Indian Bustard Sanctuary is a sanctuar}r which is the largest in extent in the
State of Maharashtra.

(b) Recently its size has been increased even further not because of the rise in no. of
Maldhoks but becanse of ubiquitous Black bucks.

Answer options : _ |
(1) Only (a) (2) Only (b} (3) Both _.(4) Neither

89.

ﬂ%Z@MﬂﬁWWMWWWWWWW
H{OGE N7

(1) o feee, vfeam wR
(2) e W, A S AR
(3) ol i ww, e femeas T o

“@ Fereelt SerTe O, e TIW RS
Which of the following were included in the World Heritage List in the meetmg of UNESCO,

held on 2279 June 2014 ?

" (1) Red Fort, Western Ghats.

(2) Elephanta Caves, Manas Wildlife Sanctuary.
(3) Rani Ki Baav, Great Himalayan ‘National Park.
(4) Nandadevi National Park, Kaziranga National Park.
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90. m@ﬁmmmmmmm

(1) wremrh, g, sher, frewsmes

(2) e, fir-vises, qfeie, Fremah

@) fir-viswes, wfew, 9, s

Arrange the passes in a correct sequence from south to north in the Himalayas :
(1) Kalapani, Burzil, Banihal, Pit-Panjal |
(2) Banihal, Pir-Panjal, Burzil, Kalapani ' !
(3) Pir-Panjal, Banihal, Burzil, Kalapani |
(4) Burzil, Kalapani, Pir-Panjal, Banihal

91. 2014 = TAERVIATIE STEACTER e waifow 20 e veddet WX swrawa
3T T & ey weifus wefv ama.

(1) 10, Freww, 2 @ 11, %=h, gud
(3) 12, O, 4= @) 13, feelt, S

According to the Environmental Report of 2014, | cities from India are among
the 20 most polluted cities in the world and __ and are the most polluted
of them.

Choose proper options from following :
(1) 10, Kolkata, Chennai (2) 11, Kochi, Mumbai
(3) 12, Pune, Mumbai {4) 13, Delhi, Kolkata

92. ydedsl woR fagm Gy g ?
(1) vTRETE T St 1% Ae w5 Sy angd et R
@ e we 12 WR R e R i R TRgd TR S - !
(3)  wraw vl S TR e s A, |
(4 =0a wd
Which one of the following statements is correct ?
(1) Less than 1% of the country’s land area is under mangroves.
(2) Mangroves have been reported in all the 12 coastal states/UTs.

(3) West Bengal has the maximum mangrove cover in the country.
(4) - All the above three
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93, WEREM™ ufEd s 9w g @ forslcn fafits g o o, enewm w9 @ ?
(1) 9 T0 A9 geda o o,
() ¥ e wdy st @i i o o weed -wEa e wE W A whem sl
fel /89 v,
(3) ¢ el SMET SIVERITE! B www.elecwasnit.com I FSITAT TR,
(4) $F90 TR Ve Sfeemen yr sy wefid R,
Maharashtras first authorised electronic waste unit, Eco Recycling Ltd has begun its
operations. Which of the following statements is not correct about it ?
(1) 1tis located at Andheri, in Mumbai.
(2) They send their pick up van to collect e-waste from your home/ offzces (be it
computers, tv or cell phone).
(3) One just has to log on to www.elecwasnit.com and the company collects it.
(4) Itis finally sent to Belgium for metallic extraction.
94. R A Fudsd Tor 9w aw? |
(a) SOR 2011 YA g ved Foered srgfaw Smts v 0.6% SR
(b) e sryfEd R o sryfer AT Hem TR 10.29 7.8 SR
it s ;
(1) %9 () 2) %as (b) (3 a= (4 T
Which one of the following two statements is correct ? |
{a) As per the census 2011, the percentage of Scheduleci Tribe population in Mumbaz
city district is 0.6%.
(b) The Scheduled Caste and Scheduled Tribe population in percentages of Maharashira
stand at 10.2 and 7.8.
Answer Options : o S
(1) Only (a) (2) Only (b) (3) Both (4) Neither
95.  WRIVAT STgaT 2011mmw@awmwm@qﬁmmmgﬁmw

A2
(1) 38.2% (2) 424% (3) 53.1% 4) 30.5%
According to the Census Report 2011, how many have latrine facility available within

.their premises in Maharashira State (household wise) ?
(1) 38.2% (2) 424% (3) 53.1% (4) 305%
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96. Tl TWRE FEd U FH frarden ‘wiwu-wur’ § it w6t S ggw enfn o6

arefor=a o S dlen e frafor et ok,

BT o #

(a) T@EW Wl

() iy = I wheEE S,

Fie € Yt S W a2 |

1) ¥ (a) 2) %9 (b) @) o= 4) T TR

Dr. Balasaheb Sawant Konkan Agricultural University has developed a new variety of
mango, ‘Konkan-Samrat’, which is a hybrid of Alphonso and Tommy Atkins.

In comparison with Alphonso it :

{(a) fruits every year.

(v} however is less disease resistant.

Which of the above two is correct ? ,
(1) Only (@) (2}  Only (b} (3) Both {4) Neither

97. Wy ¥ AR fEar Fraw fysmmen (CRZ)WW@WW%
R AR ?
(a) Hag o gad aREwEE o
(b) sfeum - Fream snfn wefgdta 32
(© v @ fEd wdw
(@) wEER fFad wew
wafeh ek | |
(1) (a) 3 (b) (2) I (b) (3 TN () 4 (o 3fn (@)

Which of the following regions have been excluded from the Regional Limits of CR.Z. by
the Government of India ?

{a) Mumbai and surrounding Islands

(b) Andaman-Nicobar Lakshadweep Islands

(¢} Eastern Coastal Region of India

(d) Malabar Coastal Region

Answer Options : _

() @and(®)  (2) Only(b) (3) Only o (4) (0 and (d)
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(@) @ Fa e Ao R

() #2014 TR GE FHOAT A,

©) ﬁ%wmg&rmaﬁ@am@mﬂ%wﬁw

(d) T G SIS T AN AR SeTe Jua, S gﬁm%mm%ﬁa
@aaieat Tt R A s o geiterd SR,

(@) e F E W A e e
() whFT A weerer giee I aefifa o
(g TR el WesE A Fol W w9 w ] IW-7d W G,

it T :
1 @ - @ ©
G (8 (4 ude i) ued and

Which one of the following statements about the Ra;xv Gandhi Khel Abhiyan is
not correct ?

(a} Ttis a centrally sponsored scheme.
(b} It was launched in 2014.
(¢} It took the place of Panchayat Yuva Krida and Khel Abhiyan.

(d) “Promotion of sports as a way of life’ among the youth, increased access to sports
~ facilities conduct of sports competitions are included in the scheme.

{e) Integrated sports complexes will be constructed.

(f)  Provision for self defence training for women has been madé.

(g) Special category games are also organised like North East area games.
Answer Options : |
Q) © @

3 (g (4) None of the above three
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Ete 9 faamitet wm dvg g ?

(a) WWWWW@WW%zwmﬁmﬁmmm
R (2050 TEAW) 2010 M TN 30% T HH O iR oM.

(b) S & TOERE 3 379 Yo A,
(1) 9 (a) (@ %@ (b) @) = (4) Tl
Which one of the following two statements is correct ? o b

(@) To limit the increase in Global mean temperature to 2 degree C relative to
pre-industrial level the GHE at global level have to be reduced by 30% compared
with 2010 by 2050.

(b) Ozone is a triatomic molecule of oxygen.
Answer Options : _ S
(1} Only (a) (2) Only (b} (3) Both {4) Neither

100,

‘egm' S T el feard o, e d faseen vty Fre
() R remafiier A et oaTe < G

(b) % forgereeren e i W STewR,

(€) ¥ STATEROT TS U G,

() IrET ISR TR S TEd A,

(1} @ for (b) 2 () ¥f ()
3) (a) s © @) (b)emfor(d)

The characteristics of the Iet stream are g1ven below. Choose the optzon showmg the
correct characteristics.

(a) They occur in both the hemispheres between the westerly heavy winds.
{(b) They occur at equator and polar regions.
{c¢) They occur in the lower part of the atmosphere.

{d) " They do not affect the rainfall on the earth’s surface.

Answer Options :

(1) (@) and (b) (2) (b) and (c)
(3} (@and(9) - (4 (b)and(d)
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() IR St Yaudi o smpEema sl et g,

(b T S e S T e (ST g 3 duifn) i,

i e | |

(1) 92 (a) (2) 9 (b) (3 (4) e

Which one of the following two statements is correct ?

(a} Cartagena protocol refers to Biosafety and issue relating to genetic engineering.

(b) Nagoya protocol relates to Access and Benefit sharing, |

Answer Options :

(1} Only (a) (2) Only (b} {3) Both : {4} Neither

102. IR 2011 OR TERIEHT o) 2o Seame uusss fyvarar gvar oia syees og ?

1) 502% @) 59.4% (@) 608%  (4) 75.0%

How many households in Maharashira have availability of drinking water source within
their premises as per Census 2011, percentage wise ?

1) 50.2% @) 59.4% @) 608% (&) 75.0%

103. Greferie! HivRh wafeomE] wwer et 39 1977 A8 groied 9YR USG9 HETmE)
afefelt et ? -

(1) il e faar (@) i T wETR
() aEsESEr (4) e arovm g sy gk

Which one of the following environmental issues was discussed in the United Nations
Conference at Nairobi in 1977 ?

(1) Depletion of ozone layer {2} Heavy floods in Congo river

(3} Desertification {4) Melting of ice due to global wémﬂng
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104. mﬁ“&mﬂ@ﬁﬁﬁé?ﬂﬁﬁﬁﬁ%@%&aﬁaﬂmmﬁmmmﬁa@ |
(a) mwmzmm
(b) WWWmeWWMWSWWWMWm@W
©) mmme 3% 1 & a1ed ufed.
(d) 1L STARTER e

u'afeﬁm
(1) W (@) ) @ wwEH
() = (o) A () (@) W () S (o)

Foiiowmg are some of the statements pertaining to Kyoto protocol. Afte:r readmg them
choose the option depicting a group of correct statements _ :

(a) Itwas 31gned in 1992.

() One of its objectives was to reduce the carbon d1ox1de emzsszon 'oeiow the Eevel of
1995 :

(c) After the protocol emission continued to go up at the rate "of. 3 percent a y'ear._: '
| ('d) It was signed in }apan ' 5 Lo

Answer Ophons _ I o

M @ @ony @ ®ony

3) (C) and (d) only (4) (b)and ()énly

105. ﬁmmmw WW F%Mwmv

(1) e | @ W
@) e v | (4) e W | | ._

| Eco-system of which sea has been destroyed by the pr('.);'ect. undertakmg diverting of ﬁ?er
waters ? _
(1) Red sea (2) Aral sea
{(3) Baltik sea - (4) Mediterranean sea
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wrefie A ugr.

(a) wATCmETE S SIS YRS TREHY SR

(b) THFER fove Ster FaeTe ST SR

(c) = HErSmHE w6 forcgaiel WH i Ywren AR R,
et e :

(1) e e (a) sl o,

() wud faum (o) g% TR

(3) Fau (a), (b) W () % A

@) faum (o) aufir (o) wde R,

Observe the following statements:

{a) Aurangabad city is located to the west of Jalna city

- {b). Osmanabad district is located to the North of Jalna district

{c) Only six districts of Maharashtra have a common border with Karnataka state
Answer Options :

(1) Only statement (a) is correct

@) Only statement (c) is incorrect

(3) Statements (a)}, (b) and (¢} are incorrect

(4) Statemnents (b} and {c} are correct

107.

RaTa wata Sifr weRar sreren 10 Foreais wrerar 95% Yan s oTR. 1 <a foewisned
gdie B faurdte o @ ad?

(a) v 6 oot Fw wardle aga

(o) Turfe 3 Raed firglom wvfle oA,

(1) ¥ (a) @) 9@ (b) @ = @ T

The top ten highest literate districts of India have upwards of 95% literacy rate. What is
not correct about these ten districts 7

{a}) Six of them belong to Kerala

(b} Three of them belong to Mizoram

Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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108. T w@el 2011 HYd AiRfvan AAe SReN g SIEHE aeredl Rnsri el gerd, e
AN Hige w.
(1) TR T, foen, e, s 9 Sy
(2 Toer, s Wy, HurEs, sy 9 SR
(3) T, SrEvEE You, faeR, sy g Sl
(4) oTEUTEY wou, HER, HewRTd, W 9 HIvR

Arrange the states in a descending order of their percentage decadal population growth
as noticed in 2011

(1) UP, Bihar, Jharkhand, Jammu and Kashmir

(2) Bihar, UP, Meghalaya, Jammu and Kashmir

(3) Meghalaya, Arunachal Pradesh, Bihar, Jammu and Kashmir

{(4) Arunachal Pradesh, Bihar, Meghalaya, Jammu and Kashmir

109. =Ria sftr wieh frfifdieam 43 fedtelt smen. wear dra e e :

EiC] - Prfifelt o
(@ afd. - G FEdwwmrR
(b) w&FT () wfEER
(¢) TEET () IR TS R T HeEiEH TEEER
(d) wEHER (v) =T Hg 9 drafew weranr
g g vy freer

@ B © @
@ @ @ v O
@ @ @ @ 0
@ O 6 @
@ @ @ 0 @

Names of cyclones and their places of formation are given below *

Name Place of formation
{a) Tornado {} Indian Ocean
(b} Hurricane iy On Land
{c} Typhoon (it} West Indies Islands and Atlantic Ocean
(d} Cyclones {iv) Sea of China and Pacific Ocean

Select the option for correct pairs :
@ () (@ @

W) @ @ @ o

@ v @) @ 6

() 0 @ @ ()

@ @ o 0 @
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110, € 7 faurites] Sog g9rg AR ?

(a) Tormeass g1 wraE @t dexqren sy Hieva sreqvain v faeey Jvar swaeer Sy
.

(b) uigdr vy wrR i sTervEdERE g vadten fadume amfs e S,
peipiich . |

(1) ¥ (a) (2) ¥ () (3) R @) wER T
Which one of the following two statements is correct ?

{(a) Vinayak D. Savarkar undertook a fast unto death for giving the untouchables an
access to the temple at Pandharpur.

(b} Pandurang Sadashiv Sane was connected with social movement against the evil
practice of untouchability.

Answer options !

(1) Only (a) (2) .Only (b) (3) Both (4) Neither
111. 2014 501 wateew foehra Prdwierar wraen 100 36t 7w frerl srge 178 Rwiwed
weletE ara vty fraer
(1) 28.03 3nfyr 153 &t (2) 2930 an?‘vf 154 &1
(3) 33.38 aTify 156 =0 | (4 31.33 emfn 155 =

According to the Environmental Development Index of 2014, India scored
points out of 100 and ranked in the list of 178 countries.

Choose the correct option :
(1) 28.03 and 1531 (2) 29.30 and 154

(3) 33.38 and 156 (4) 31.33 and 155t
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112. mzonmwmﬁamga%agaéwmwﬁwwmmﬁaﬁwaw
HT WA SR 7

{1)
@
@)
“)

B BIHVHHS ARG o U fagidier
et o Hrnv, faey g g fesermya
fat fagufdie

- @ faevlde W @ SR

What have you to say about the three districts with the highest literacy percentage after
Mumbai and Mumbai Suburban as per the 2011 Census ?

(1)
Ne)
3)
@)

Two belong to Konkan and one to Vidarbha

One belongs to Konkan, one to Vidarbha and orie to Pune Division
All the three belong to Vidarbha

Two belong to Vidarbha and one to Konkan

113. @it o foe weme) ety It et R ?

)
2
)
@

- refadiett, dengy, T s, 9ER

imER, Seng, I,
1), fers, wael, 4R

Which of the following districts practice shifting cultivation ?

)
@
(3)
(4)

Gadchiroli, Solapur,.Nashﬁc, Chandrapur‘
Chandrapur, Thane, Nashik, Gadchiroli
Aurangabad, Solapur, Thane, Nashik
Thane, Nashik, Parbhani, Dhule
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114, G ¥ S0 'S H AR HET W SRS AL, Ao FA @A ?

(a) wET= AT WrYEwTEt g sfave aTgT gee AR aRv ) 9aN El.
(b) ¥ HeArs Yo wen gaifye erad.

i IH S |

(1) ¥a (a) (2) FeEs (b) @) I @) wEaE

The loo is a hot and dry wind that blows in the summer months. What is incorrect about
the loo ?

{a) The loo occurs due to convective air movement reéuiting from the intense heating of
the earths surface.

(b) The loo is strongest in the foreﬁoon.

Answer Options : _ L .
(1) Only (a) ) Only®)  (3) Both (4) Neither

115, YRGS AFGAEt W9E SN e Tl 9o & @elterdst #1e Pfor g ?
(1) & e WO TR (2) e TR s SR
(3) v wRrEERre Uiy s Yn (a) Tee weramTrs Hey WA
El-Nino current which affects the Indian monsoon originates at :
(1) Pacific ocean off Peruvian coast '(2') " Atlantic ocean off Peruvian coast
(3) Western part of pacific ocean (4) Central part of Indian ocean

116. et 9 faumitet SR g o ?
(a) Torrererity snfer sy Rrgramia SR o ST starEd) (YUROAEET) TeR aTEr.
(by sgER e fafmarers @fsgwet sapart 15 3 sifys o,
W ¥EE @ ¥eE @ ¥ @
Which one of the following two statements is correct ? '
(a) For the reclarnation of alkaline and saline-alkali soils Sulphur is used.
{b} Exchangeable Sodium percentage of Saline soil is more than 15.

Answer options :
(1) Only (a) (2) Only () {(3) Both {(4) Neither
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117. EeiEe! e gt/ Sedioys dresa somsn S 9= wfas areneerta Tt aree

R ?
() fad(cHy) - 2) " SEEs (N,0)
(3) WEv SmElEERE (CO,) 0 (4) @Ed SREEEE (CO)
Which of the following gases from Indian Agriculture contributes maximum in global
warming ? .
(1) Methane (CHy) (2) Nitrous oxide (N,O)
(3) Carbon dioxide (CO,) ' {4y Carbon monoxide (CO)

118, e & Fasmita Fom ey ok 2
(a) WU WR geTE 9% o
(b) EET () B R i e S,
\Tﬂfiﬂ‘ I :
() ¥ (@) 2 % () 3 (4) wwd T
Which one of the folloWing two statements is correct ?
(a) Sugarcane is a salt tolerant crop.
(b) Gram (Chana) is a salt sensitive plant.

Answer options : ' _
(1) Only (a) (2) Only (b) (3) Both (4) Neither

119, T& 3 famidel S dira o ?
(@ m&?&mﬁﬁwmtﬂwﬂi@m T WLl g e,
s |
1) ¥B@ @ ¥ @ ¥ (@ TS
Which one of the following two statements is correct ?
(a) The cation exchange capacity is high in Montmerillonite clay minerals.
(b) Basalin is used to control the transpiration from crop leaves.

Answer options : : .
(1) Only (a) (2} Only (b) {3) Both (4) Neither
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120. TETE & faurmda! o s g ?

(a) Yrwedns grgRREEy Fmi g,

(b) A UERETrIE e Sei ey arean

bt I

1) %53 (a) @ Fm (b) @) @ R
Which one of the following two statements is incorrect ? '

(a) Refrigerators give rise to Hydrofluorocarbons.

(b) Fire extinguishers lead to increase in halons.

Answer options :
(1) Only(@  (2) Only(b) (3) Both (4) Neither

121.

(1) o == (2) U H
@) Fehawa =0 (4) FoREE TESER

Which pollutant was responsible for the minamata disease epidemic that caused several
deaths in Japan and Sweden due to consumption of contaminated fishes ?

&

(1) Lead wastes (2}  Mercury wastes
{3) Cadmium wastes (4) Chlorinated hydrocarbons
122. TEE B fauriiet SR s g ?
(a) ST onfRTR TTOS S R ST el w3,
(b) R fe yoneh wiht aftefar fady s o,
et T :
1 ¥ () @ Fa@ () @ I 4 TR

Which one of the following two staternents is incorrect ?

(a) BOD gives a good idea about the level of organic waste pollution,

(b) Sprinkler irrigation system is particularly suited to the loamy soils.

Answer options :

(1) Only (a) 2)  Only (b) (3) Both (4) Neither
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123. wrefferim s woalhs wts sfifawd dem yaom s 7

(1) ForEEe J Tmde Q) AR e

(3) @es 9 boswrd 4) fowm 9 fazudz

Which of the following are the most widespread primary minerals in soils ?
(1) Calcite and Dolomite {2) Pyrites and Marcasite

{3} Quartz and Feldspars (4) Gypsum and Siderite

124.’@@@#%%@%@‘&%%%(%@%)'%?

(a) W1, WG, S (b) g, T,

(c) T, T, T (dy SN, meron, et

Tt v |

1) @I @2 ®BF() G ©3@E) 4y (@)%
| Among the following, which group has plants that are all ‘day neutral’ ?

{(a) Majlze, Ricé, Pea {b} Wheat, Sweet-potato, Rice

(¢} Pea, Cotton, Wheat © {d)} Tomato, Pea, Cotton

Answer options :

(1} (8 and (d) (2) (b) and () (3} (0 and (3) (4) (d)only

125. WWWWWWWWW ST ST ?

(1) S S (2) A sEen
(3) IER YRETT Srerea (4) A SRRy
At which stage the crop co-efficient is maximum for calculation of water requirement ?
(1} Reproductive stage | (2)  Seedling stage
(3} . Active vegetative stage {4) Mat‘urity stage
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126. wrarasd guy wffagardsr= e CIE G
(1') 2 demE JeE | ) fEe sTEw 9@
(3) e o (@) HEIER R
The first Agricultural University in India was established in the name of
(1) Dr. Panjabrao Deshmukh {2) Govind Ballabh Pant
(3) Choudhari Charan Singh (4) Chandrashekhar Azad
127. WA e g FAaRIgER SR, aie, fies, s 3 9 oren gvtarda fawrs i and.,
et B P S i e
(a) TETTETEE HvRE W dwEEs T ded e,
(b) AR & Higaqy =irear 7uid Jarw.
it 36T :
(1) F9% () @ ¥ () (@ W& (4)
Indian cities are classified on the basis of air quality index anﬁong Dangerous, Bad, Poor,
Fair and Good.
Now state which one of the following two statements is correct ?
{a) There is no city from Maharashtra in the Dangerous class..
{(b) Tuticorin and Coimbatore fail in good class.
Answer options’:
() Only@ (2 Onlyb) (3) Both (4) Neither
128, RV I AUESIYE W G WTEl 9, §RFTE WEW wUArE! sHal guRd |

iaehes T |4ed ?
1) = Q) e (3) e (4) Ffewa

Which plant nutrient increases root growth, improves drought tolerance and imparts
disease resistance to crops ?

{1} Nitrogen (2) Phosphorus {3) Potassium (4) Calcium -

¥
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129.

60 A
sftrdren R TR S I VT ey WL iy e snfifeyen R
(1 10 @ 15 @3 20 - - @) 25

Contour trenches are not advisable, neither technically nor economicaﬁy when slope is
more than percent. -

1) 10 @) 15 3) 20 @ 25

130.

SRt i sfterei e Sfasten (ordien) (o' oumed %1 3 ?

(1) WA a1 e WG STIRe) STEA. .

(2) wmErEn s goued gdtewar At e

(3) i o R FETHYER Sredl,

(4) wefrem ‘or' uame SRR W v svwe,

Why horizon "A’ of soils harbors maximum bacterial population ?
(1} Soils of ‘A’ horizon contains more nutrients. - '.
(2) Soils of "A’” horizon is more fertile.

(3) Soils of “A” horizon is saturated with water,

{4) Soils of “A’ horizon is rich in organic matter.

131.

e 9 faumiteat SR O e ?

(a) oTelrtsem ¥ fafermr snfer faerailaude aiear g s

() el wlred s e,

gl Sy

1) ¥ () @ F () @ T @ T
Which one of the following two statements is correct ?

(a) Allophanes are a combination of Silica and sesquioxides.

{t) Tourmaline contains Zinc.

Answer options : : |
{1) Only (a) (2) Only (b) ~ (3) Both | {4) Neither
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132, TAHMR FOR WeE W 3erRA = fafay i wrrae Tgat ywifEa w5 ?

(1) ToEH, SEnE, IR, THE
(2) @, wETe, st T,
(3) it urefl, SR o, s, 9wt

@) Sirifas wm, S 3=, 9/, T

Which climatic elements affect the c¢rop production or various crop cultivation
practices ?

{1} Temperature, moisture, wind, light
(2) Wind, light, topography, soil
(3) Soil water, soil temperature, rain, soil

(4) Topography, altitude, wind, rain

133, Wmﬁmmmwmmm
(1) 7= snfvy s () @R s g
(3) uefrE s g (4) iR snfer W
The deficiency symptoms of are visible at the tips of shoots and roots.
(1) Nitrogen and Sulphur {2) Boron and Calcium
(3 Magnesium and Iron (4) Ef’c;tassizzm and Phosphorus
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134, yéia 2 faumils SR d9vg or?

(a) iftrie IR SO qu STl roTerer sEe TR ST g geaT .
by ooy i Fufife, Saw g v,

vratet 3

(1) ¥ (@) @ ¥ () @) A @ T
Which one of the following two statements is correct ?

{a} Soil erosion by wind brings about serious damage to soil by changing the soil
permeability.

{b) Histosols are known as organic soils.
Answer options :

(1) Only (a) (2} Only(b) (3) Both {4) Neither

._;35. IWWWHWWWWWW%?@WW&WWW
HIT T G ?

) d@, TTe ' - () 4@, e
@) W e | @ TEO,QF0E)

The higher rate of Photosynthesis and higher rate of Water Use Efficiency (WUE) at an
optimal temperature range of 35°C to 40°C is generally observed in :

(1) G5 plants (2) €, plants

(3) CAM planis 4) (1), {2) and (3) above
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136. TTETErEAT qeTe YATIRIA audy fmee (fevar Tn) W@ QG y B SEC R
HAAES T IR, .
(y @ () e 3) A (g Tuw
Loss of green colour of leaves starting from the bottom leaves upwards is a deficiency
symptoms of elerment.
(1) Copper (2) Manganese {3y Magnesium {4y Sulphur

137. TG VM ST S U SIS SIE S SRres srevas o ?

(a) eyl W () i A

) svifas g (d) w. REDIE IR ICR]

() wHHEY EHIA () HFTEATIn

Tt S

L @ 0 60 2 (®) (@) O

3 @ 0)© @) O @ (a) ®) (@6

gv%a; are the essential characteristics for a community to be identified as a Scheduled
ribe 7

(a) Distinctive culture - (b) Primitive traits

(¢) Geographical isolation (d) Shyness of contact

(€) Declining population (f)  Backwardness

Answer Options :
1 @ ®) () H 2 ®)© O O
3) (@ ®) ) (e O 4 (@, ®) ) (@), @
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138, GRIHT FHIFEHE QUEE § T FHITA S0 H IS TiaT SR gl el oo

(a) WS R ()  IRaIE WEISH W St ST W
(b) .aﬁ%‘n | () T R e e 2

(¢} o I (iit) aﬁ'ﬁamﬁa%ﬁgé}

(d) R BT (iv) R 4TS WHEE

it 3 -

@ B © @
1) ) @) @ @
@ @) @ O @
@ @ O @) @
@ 6 @ @ @

Match the following members of the Simon Commission and the reasons for their
appointment on the Commission :

{a) Sir John Simon (i) Expected to be acceptable to the Moderates in India
(b) Burnham (#) Had travelled all parts of the British Empire
(¢) Lane Fox (i) Brother-in-Law of Lord Irwin

{(d) Vernon Hartshorn  (iv) Member of Labour Party

Answer options :

@ b () @
(1) (v) @) @ @
(2 @ Gv) @ @
(3 @ @ Gv) (@)
@ 0 ) @) (v)
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139. wur g4 fEieaiae), feuarard Saden s Sas § aum wrel waamrha feeear |
fohrean se e,

(1) uam ST (2) wER (3) Uam e (4) 9aT JATEE

With similar amount of solar radiation, crops that are grown with irrigation give
yield compared to those grown with equal amount of water as rainfall.

(1} more (2) equal (3) less {(4) indefinite

140. YEiw < faumitsl Son erivg o ?
(a) wid foer wed Juren Fawides dOHE YdUMEOS 31° 9.3, SO TrE,
(b) S IeAGHIRAT AT AYE 10 - 16° €3, .
ugidt sy :
1) F@@E () FEBE @ = (4) e
Which one of the following two statements is incorrect ?
(a) Optimum temperature required at tillering stage of Rice is 31°C.
(b) Optimum temperature required for egg producﬁon is 10 - 16°C.
Answer options :

(1) Only (a) () Only(® - (3) Both | (4) Neither
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141. gﬁaﬁ#ﬁmmzﬁw R ?
(a) WIS wromEd T 9.
(b) T8 FopEER 9iom #a.
TG I
(1) F9 (a) () Faw (o) @) A @ wETE
Which one of the following two statements is correct ? |
(a) Mercury causes loss of memory.
‘®) Lead affects lungs.
Answer options :

(1) Only (a) () Only () (3) Both (4) Neither

142, g A7 frerit Hom dv o ?
(a) eI TaEwor & yrgear Wﬁﬁf@ﬂ?ﬁwmwﬁﬁm
(b) Tl g v Alzwivas s warmr oid agear fawm @ vee die .
Tl e
(1) 95 (a) (2) % (b) @ @) e TR
Which one of the following two statements is correct ?
(a) Plant distribution is primarily controlled by the distribution of edaptic conditions.

(t) The word ecology comes from the word Oikos meaning dwelling. Otkos is a Latin
word.

Answer options :

(1) Only (a) {2) Only(b) (3) Both . {4) Neither
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143. foam sfee w12 Ao wqol <wma aw] well s a1 drorraredt Sdfavas smiwia w9 fd
IR, N ARSI T WA ?

(a) @mmmﬁwamwﬁmmﬁwmm

(b) o1 ARHT HaS It mwmquWWWﬁ@fm%ﬁaﬁﬁﬁ
fast s =,

i} I | o

(1) ¥ (a) @ ¥F@E) @) @ T

The Kisan Credit Card Scheme is in operation throughout the country and the scheme
augments credit flow to agricultural activities. What is not true about the scheme ?

(a) The scheme is implemented only through the Cooperative Banks and Regional Rural
Banks.

(b) Under the scheme credit is extended only for the consumption needs but does not
include term credit.

Answer options :
{1 Only (a) (2}  Only (b} (3} Both (4} ~ Neither

144, aﬁ@a@@?ﬂmﬁa Y
(a) TGS SR SNTET 0T TEEL T/ YT,
() W= wrEdvel wied ve=awl/SREr e,

(¢) AR wH FaEreT waKi,

(dy wfiEret gert/ freee g,

(¢) W s nfvr foeRmTinge qﬁzﬁ'rr AT FHATL

T I

1) @) (o) 3 (d) FR @) () (), () 3N (a) wR
@) @ 0) ) ()3T (TR (4) (@) (d) 3 (&) R
Problems of dry land Agricuiture are

{(a) Late onset and early ceasation of rain,

(b} Prolonged dry spells during crop period.

{c; Low moisture retention capacity of the soil.

(d) Poor soil fertility condition.

(e) Technological and developmental constraints.

Answer options :

(1) (a), (cj and (d) correct (2} (b}, {d), (e) and (a) correct
(3) (a) (b), (0), (d) and {e) correct (4} {(a), (d} and (e) correct
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145, Ww IEHRT e witw geare! sevasar ifau yEelet g ey e

(a) wETEn wEEmTsn wHaEHs frera Seres 7l s s dd
(b) RN SREHTH HWERE FI O Heh [T TeT Hiear A,
(o) wETEr TRomm g SRR e SaredE e e,

(d) R e SieT T SEEE STE,

uiet IO :
1) (a) wH ) @F(h)wHR
(3) (@) ()T (c) BHI @ @ 0,070

Choose from among the following essential mineral nutrients of a crop :
(a) A deficiency of the element in question results in failure to complete life cycle.

Deficiency of the element in question can be corrected only by supplyin that
Y G Y Ry PP ymng
particular element.

{¢} The element must e;ctend its effect on growth or métabolism.
(d) The element is essential in small quantities only.

Answer optitms':

(1) @ only (2) () and (&) only

(3) (a) (b) and (¢) only 4 @ ®)(©ad {d)
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146. hfuw. o weaes yfterd HiSoaTeT HreTHIG W1 WU ?

(a) S9UE Tl (b) YT FHW

(c) IUUE AW (d) TIUE UR&H

afiedeat wivm /o ferers/faud sdET ng/a?

1 @ wF - @ (p)wx

@) (o) snfor (d) e (4) o0 wiaE T

The means by which GPS signals are used to determine ground position is/are called as :
(a) Satellite ranging (b) Satellite orbit

(¢) Satellite distance (d) Satellite receiver

Which of the statements given above is/are correct ?

(1) (@) only @ () only
(3) (c)and (d)only - {4) None of the above

147, v € fayrite Hom e g ?
(a) Wiz sfe framas sTE yoreh @ fifsra g Hae SRR oM,

- (b) HiHEN WA g WA IVIE vEEe - 2 9 yauw fE 23wm2009ﬁrvﬁ
e s, -15 91 FEr qrg SR 3,

vt 3w
(1) ¥ (a) @ ¥ () (3) Sl (4 TR IR
Which one of the following two statements is correct ?

(a) SPOT and QUICKBIRD satellite system is an example of passive Remote Sensing.

(b) Sixteenth IRS satellite OCEANSAT - 2 was launched on 2374 September 2009 by
usmg PSLV-15 launch vehicle.

Answer options :

(1) Only (a) 2) Only (b) (3) Both (4) Neither
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148. Géia S faumieat wom g o) | __
(a) gaw wrel Yor WA suE) 9l el 3 AEmmieuy WRG SE . ) gkl sresReed
(b) 2013 9l IRATET §6 fRARIEER de®aedl Grfe (phailin) 41 s iaTe@re grrameisn
weida 7d yeafard ERde-1 (CARTOSAT-T) a1 Swre wfsi=n swii e Ao,
. TgiEt 3
1) FEE) @ FwE) @) & @) R

~ Which one of the-following two staternents is correct ?

{(a) In microwave wavelengths (or Radar) systems, wavelengths greater than 3pm are
more commonly used for sensing the characteristics of cloud cover regions. '

(b) CARTOSAT -1 satellite data images were used in the prewarning of the advancement
of the cyclonic phailin that stuck the eastern coast of India in 2013.

Answer options :

{1} Only (a) (2) Only (b) {3} Both {(4) Neither

149, Tiw < faymils! wog w@g R ? .
(a) Y dae yomed Fufifarien suerey srgeiem SS9 WET HW@ wEn ga dad o

TR
(b) R HagT yfaw o1 qow: Aedeieea STWAN S TEY (ASTER) wfamr & 7 ez
wooq HEaM.
Taidr 36y
(1) +9 (a) () e (b) @) <= (4) wwE

Which one of the following two statements is correct ?

(a) Remote sensing systems which ineasure energy that is naturally available are called
as active sensors.

(b} Remote senising images are commonly multispectral and ASTER images record seven
spectral bands.

Answer options : .
(1) Only {(a) {2) Only (b) (3) Both (4) Neither
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Which one of the following two statements is correct ?

(a) The visible wavelengths cover a range from approximately 0.7 to 0.9 p,m
(b) For a GPS Sateliite, a full constellation requires 24 satellites. \

- Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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